“FAEFEE BAEZER (BEHig) —&5
. _ =R B mE T
] g — 7 .t assam =
H5aY EHE 1-Z-ty & $B|2I4)) ) BEEER = I 1
s 64,000 57,600 O
EFN!
Bi= 47,850 43,065 ®
G 64,000 57,600 O
RIS s
ESES SR = 47,850 43,065
FUHTORES T %2 Bi= 20,000 18,300
= BRI E1-5Eyk s 96,000 HO%OFF 86,400 O
(EEER (ERD) +ERIOE1-4) ! !
| BB 68,000 61,200
AFA NI RIG—Z D5 —HEERE 3
= 48,000 43,200
B 45,049 40,545
RIS ES
Bi= 36,667 33,001
NEEWEIHEETHE B+ B 88,000 79,200 O
IEBEETE SBA= + B 110,000 99,000 O
e AL = 2ARE T & B+ 5B 110,000 99,000 O
R T EFRZETME IR—=ININ— 1B T & BIE+EBF 73,333 66,000 O
. NEMEERIFEETE BE+EF 57,627 51,865 O
- : =7 10%OFF
mEiRE SBA= +E 176,000 158,400 O
N EEFEEE Bi= 40,333 36,300
o L (= 26,400 23,760
Mg T ESE R SR X4 == .
B+ 29— 37,400 33,660 O
BPRRS Y — SR 5 U~ I T NS Bi= 34,783 31,305 O
%1 : BEIERAHECONT
OEIDOVEEBEBASHR T, I— 2. BRI BB SN BIET .
pe X2 ERBEWE GO TORRENOBBAICL. —RAEEA BAERHAMEORER (3 000M(HA) ) FSFNET.,
TS x3 EEEREE (B SBEREFIEEERECHIIHOBETT,
%4 1 29— - A AR IINRESNET. (N EEI ARSI : FIE0A~115E)
YR BB BIES LU BEAB A A EB A AN VET,
2025.02

1.1




